e L il D

)

@ 06 & 6

)

)

-

) 0 @6 60 /666l

No. :
Subject : ....... SRR sl Date :

o4 /\\ J 2ot

% whet we've doune

= Stﬁd& 'F!N &f-tﬂeéi—mv\ euﬂwd}an

= sk v Tafiy D pesthix

—  queue

— wozing  prollam = vecursive |, stade, gueue

T

— STL . ectew /stadke /‘guwe

— ek

5 RQ-“A{'\S ASST‘j'\MQ'd-S - C?rmlnw Qrroy /J('j'\““"‘“t O¥vay "6'\ Fueue

wmltip}  swda s gueve LA avvay
Qut in C

* MT(L'{‘Q« %)

— 04 [24 /2o (Qumdwﬁ) 3pm ~ 5230 pm

- 25hrs , ne  extension

== OPEV\ 'pch_ ov oy Py‘“d‘i“"l‘ mate b-iﬁ.l.

— no  electronic diviw

-~ Enalsh  guesfiong | E@Q};L/Cfnxhegn anguiers

— range ! tothaok 2 clides  unkiQ  o4f1a(=zoit clagy

(frugwt & resdi~y &g iquments )

can ask TA questions on English meaning

______can use pen/pencil

‘Double A



)

Ao Be B IS

Subject : .......

......................... Date:: il wiils

Liv\\(LQJ\( LTS'\—

_* Spaxge PoQu\vxuM a X \,J/ dense  Tadex  avyoy (Subswc 441D

Cx 2%+ 5

[es Lan [ Gl

//

—  vepove 2%7 ,//
A~
I_—_.——_ 5.2 l A A “m,.].go“ ollp vap itz
0,5 2 YY) vieelx - CMOAS
—  aadet  ax! 7
ﬁ—/% Q\ga
u o “
k LO/ n Y \,4-) Q,,?.) J&)\ V\QQA MOV\V‘S
(Sec 4.1)
* 7“' . ho woving . Lvﬁ S’f’(\l wavv" s ocqess Se.q(ueq'*(o.pfj .’
\O(A*;ov\ iy Q A i 3
(0.9 ez Len ] LH)
hu+ none 3 | o) clclcl o u nu+'\ ‘(qu.t)
Firﬁ’\

graghicadly |, | D2 (e») TG ) — R e 5] 5 e

[oinly ok ot

ov?S: na QQj 1 (zz)‘é“——(::a (0,5

o:‘H-w 1o sevtion C CD ‘(‘(,ﬁ) (‘ next = ‘(zﬂ-)i N next

)

L ® @y ] _next = Jacakion of

%*  how o.b“a* A.QQ\Q“‘DV\?

next g m
(3: ') \ 6—/‘;—;;»‘»» m 4 ' !bl sﬂ .5 n°“e
- >

Double A



)

)

D B R B B

£]T10]-Tel G ——— 0 -

(Sec 4.2) Linkid List 1a C

READ INln ASS TN MENTT

( e 4.3)
¥ sk w/ avyay
locahsa 0 MAX-|
(1Vz(alalsl [ { |
A
Yr =
¥ Shack W/ chaA L/_QM\—
? ‘{5
Yop =7

* Guene W/ (&) rU«Law avvaM

/4
/Sead)

ol e
\owf-‘-n 4

&

e W chain

$lay
/

v S )| DG e —
rx () o

'fro-\* \ \eav
losk

does + wak? S

\ast ey

houé-/\_:.ilé—- Er= l_t‘

El{-../ ¥ £

feouv Leonk

Double A



)

2.3 3

SUbJOCt.: v isiimnesaneeneen @& e e DA e i 33 i,
(Subsee 4.4.3)
¥ evase 0 whle chain
$3sst
!—-3‘ —— ———H(——b‘ l—-—; howne
v T P 2o\ F7 Y
pS W \=r & &
L evase o w\\.l\ C"\ﬁ;"\ \AJ/ YQCL\ C(Q L}v\/
vecyd e Yu_vdg
g__@ o @ '-—--ﬂo |- @D -5 | =% - = wows
*  Qrase a whele (L‘“"'\ W/ vec \jc(( 0\* oneR
® §iad | Rast”
“““ o \'¢c3\ch Q,i-\— wqclx
TS g pe
X eyose [N whole chaia N/ Yec u‘(h Li Py
‘ ‘)_5 h,w Trx& {tvs“‘ & last )
¥  ewse 3 whale,  Gredsy Rt W) veeqdde Lia
s e hg onky  “fast"
|97 - @ — @ — @]
1
Qast
( because QQS“ next T -C'w;'\' )
DO temp = Qast_next
@  last . waxt = vecycle
@ rQC‘jc,lﬂ. = *,MM? 77777777777
X Qvase LN \—o\r\ah Orewd o L:'\' w/ le(jd-e h"
&") OV\L} H‘(zvs*'!
( bo? ¥  gem e

Double A



)

D)

2.3 3 )

Subject tmmmmrniative

(ch 4(.4-) Othay Pg“‘\s’

* YO)‘”‘B od A

« W ‘pal=3 T o, Qi

READ INGy  ASSTGN MENT

(Sec 4.5

*» chain veviing

*  chain Concakenadion

¥* <) 'CKLW‘( Q_lS'\' '(v o-d"

i-\CLv“

*  cicenlon Lot Qenﬂ-“\

READING  ASSTGMTNT

(S 4.3)

e
el

——

£t

—s A T—lol—=[ — wu

% chain: ?asu’rﬁ;{’cw( AY T gasy
O next = O _wnexd
A vt = Qogdion o4 (T
¥ Tand e (Q) Ts  havd
@ fwd 7 swdn thak ( 2 ek 7 O )

@) ek After (2>

¥ Ao“\?lj Q'mhﬂ J ) % s

Prer————e

—

/ | A— o

—

—
/

- /
Qost - r
- -—)“ e e
Yvoda- ok -
o poiders ok evpraSie by waiein

Double A




)

)

D)D) D))

Subjett': ... mnlig s Date: .......... [ laietssi s
(Sec 46) TEguwvabene Class
=" c syw\mqh'\c bz o & oz L
{ veflave 0= &
‘ arsitive Gz=b o bz & Ge=c

* 6 oz ¢4 2=\, =4 , 3z=85, 2:=¢

%e,é%,f!‘.' . L. 59, ?Z,G(;I
% low 7

© expand by symnckey
0z=4 , 4= o0
323 , =3
Rt %5 %
3= =3
2=6 , 6= 2

S ones
0z 4
1z 3
2= ¢ can use pts o
31, 3=5 / be  dynamic
420 , 4=
§=2
C=1
i =4 J

3 search by  Avansthaily

O0z¢, 4=0, 4=

3
[£% , 30 S5 % L4

)
|
\{ QT\& maze Searc,k :
J

226, (=2 Cn we stack (by Lt b shre

* m«d%s-s

— n it

— WM pav/S - 2w Q;LQM\(LLJ\ pa'wS
# n

[\

(
T 0w )

\\l
— Seavdh n stwvtig pes Wy 2m _"ywoves

L
Double A



)

e 8

)

)

)

= b e

e e Bateicrimilinabeminty:

(gf'.t. 4:\) Sémw Hﬁ\'r‘lxl Aq_mn
* f’sﬂ.hi! PAvI waste stovase

# é'rdutax '\'v;\pi% (' havd 4+ ieert a O‘Llet‘f
w/ d.l.\'\s»?_ Gvroj

* odued vighes W Risk

W5 B 220 © -5
9 i 2 0 e] )
D (o) -§ 0 °
—-—-—-&0 Ol s . QGS‘) 'I‘O _"‘“k‘_ e al;ﬂp_‘{'e
{ve .
o3 23 = g shous _up  many  Fimes
i — hod P focake aTi1(2] (Gaew search
il _ | of O(Helemsd))
l.. B
= — | f 1 -
L
| z 3
J/ - e
2 3 - b
# wie  a 'row enteq! Ovvay
a = — he nez 19 S{T-i’rL ___‘C'lil
s = Rocate  oli] (2] Hlees (ear  seavch of O(# col)
alE=——

* it lozy and  dont wont b Stdy st Tansform ? -
— = T3
@ d’mhﬁo next o weet_of - same _vou LfEr'Li

...... l"o- § ; ] —>2.2 :_‘5- -
@ odd nor _ of _ sowe _ o) }j -1 l
, BRi—t 5= =

@ rf_-clin{aia ‘(Oi ,E“,“'il (mmowz q_:!__& dx)

O had b shre (v, L) 7

+mnspose O clemls')_m Iﬂ-j Swﬁ?Fin.S | nesY_of_ sawme_ voud {',., N éla__
g‘ '1.2‘1'._ o{:_, S € ,_'(Dg :

can e Qo‘isal»l tpraned ko O Chow ?7)
* Cubec 42 ~404  READING ASSTGNMENT

Double A



